1.

CHHA £(x) = 20+ 322 + kx—k7h x+ 12 Lhro] ol A 2.8 Al &
o gk Hshe?

@ -3 @ -2 ® -1 @0 ®1



O] 2% + 2+ x+ 18 20— 1 2 U 53 Uy E &A=
uaet 222

@ 24+x+1,1 @ x2+x+1,2

® 2x*+2x+2, 1 @ 2x2 +2x+2, 2

® 4x® +4x+4, 4



ol

ol
oT
oA

H

® 1024

@ 16 ® 32 @ 64

ON



4.

oA f(x)E x -1, x— 22 U= Y27t
¥2 - 3x + 22 Y% YA E JLehH?

@ x-1 @ x+1
@ x ® —x

74741, 2 W, f(x)

® —x+1



xoll et oFdA 43 +ax? —x+ b S x—- 32 UFAS o 3 YA E
ot 2o 2PAHeR T Ak a+b+c+d+ k9 S
%;

d 33

C
1411|3i

® 19 @ 20 @ 21 @ 22 ® 23



6.  (x-3)(x—1)(x+2)(x+4)+24 F AT2MHH (x+a)(x+b) (x*+cx+d)
olth. a+b+c—d2 g& Fotofet

D
=%



2Fe ABC O AIHe] Ao a,b, ¢ Atololl a® +a®b - ac® + ab® + b° -

7.

e
.



—_—

NEF7E x - 1, AAEFHMEF 2% - Tx + 69

<y

ol

ol

@ 2x> +3x-1 @ x*-x-2

O 2x2+x+3

® x2-3x-2

@ 2x2-x-1



2x2+xy—y2+10x+4y+12—‘§—x, yQ/‘I _1_?_ (‘)E]iwl_
6H’5]'?j, (x+ay+b)(2x+cy+d)7} %ﬂ'ﬂ =1

&2 (Ha, b, ¢, d =785

® 10



10.

7} 9] Z10]7} xem, AI22] Zo]7} y em, =017} zem ¢ S HA of A

x+y+z=10, x2 +y?> +72 =464 0, o] ALHA| ] Aylol=
cm? Q1712

@ 45cm? @ 50cm? ® 54cm?

@ 58cm? ® 60cm?



11, 94 708 (v- ) 2 1o 58 o(), U141 S Rolet &
. T () 3x - 22 WAl el St AT

® Q9(x), R @ 30(x), R ® Q(x), 3R



12, ol digh b f(x) & (x—1)? 02 W thpo] HolA] 1, x 41
2 WA Y27 40t} o] 1, f(x) B (x+ 1)(x - 1)2 22 U=
i, YHAE ax? + bx + c 2 SFH a+ b+ ¢ o] 42?

® -2 @ -1 ® 0 @ 1 ® 2



